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INSTRUCTIONS TO THE CANDIDATES

. This Question Booklet is printed in Hindi and English languages. Candidates should select any one of

the two languages according to their convenience.

The Question Booklet contains 100 questions. The examinee should verify that the requisite number
of questions are printed in the Question Booklet, otherwise he/she should ask for another Question
Booklet.

All questions are compulsory.
All questions carry equal marks.

. The cover page indicates the number of pages in the Question Booklet. The éxaminee should verify that

the requisite number of pages are attached in the Question Booklet, otherwise he/she should ask for
another Question Booklet.

Read carefully the instructions given on the Answer Sheet supplied and indicate your answers
accordingly.

Kindly make necessary entries on the Answer Sheet only at the places indicated and nowhere else.

Examinee should do all rough work on the space meant for rough work in the pages given at the end of
the Question Booklet and nowhere else, not even on the Answer Sheet.

. Ifthere is any sort of mistake either of printing or of factual nature in any question, then out of the Hindi

: and English versions of the question, the Hindi version will be treated as standard.
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1.

2.

Which of the following Schedules
of Constitution of India makes the

provision of Tribes Advisory Council ?
{A) Fifth Schedule

(B) Sixth Schedule

(C) Seventh Schedule

(D) Eighth Schedule

Who is the author of the book

‘ The Nature of Culture’ ?
(A) A. L. Kroeber

(B) Herskovitz

(C) Piddington

(D) Ward

‘Buffalo Culture’ (feeling of respect
and veneration towards buffalo) is

found in

(A) Bhils

(B) Kamar’s

(C) Dhelki Kharia

(D) Toda’s

SF/M/1/2019/ 1-A

4.

|

In. which Article of the Constitution
makes provision for Constitution of
‘Tribal Advisory Council’ ?

(A) 365
(B) 340
(C) 244
(D) 342

In which of ‘the following options
dance is nc?t matched properly
with the name of the tribe where it
prevails ?

Dance ! Tribe
(A) BhagoriaI Bhil
(B) Pardhaoni Baiga
(C) Rina Gond
(D) Gocho Bhilala

Match the following :
|

List I List II
a. North Anllerica 1. Steppies
b. South America 2. Velds
c. Africa I‘ 3. Prairies
d. Europe ' 4. Pampas
Code : !

a b e d
A) 3 4 1 2
B 1 2 3 4
c 2 3 4 1
(D) 3 4 2 1

[ P.T.O.
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7. Tmafafea d @ - v H g H e &
TR ?

(A) <hieRoT G
(B) WIHER 2
(C) HRMISH T
(D) sféftae

8. e fermeh fere wfdg & 2
(A) g
(B) =aen
(C) rueh

(D) TH T

9. HEYew & fru o d e Awe’
Rag?

(A) 8R

(B) SEEH

(C) SRFTER
(D) TIfeRR

10, WeTRN ¥ R SeiaeniwEe Wi Fa
fBae?

(A) =R i &
(B) TR Sirenfies &
() wodidiy aienfies &=
(D) e 3irEnfies &=

 SF/M/1/2019/ I-A

11.

12.

13.

HRA ¥ 3Td (AMRUT) 91 37 2015 §

form o e o g 7

(A) STERYT TEQ ST GUR
(B) R IIgtl o T formra
(C) <9 = WS THT

(D) Wi A & =d T

weyeyl # forde i oeg fam
frmg?

(A) S
(B) 8
(C) 9

(D} 7

SFIOET 201 1 % HIUR 9T A9

SR SFEEAT e AT Toretl &
(8) i

(B) ¥=R

(C) SEAR

(D) TR
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7. Which of the following coastisa part 11. The AMRUT [Scheme was launched

of Eastern Coast of India ? in India in June 2015 for the
(A) Konkan Coast purpose of |

(B) Malabar Coast (A) To improve basic urban

(C) Koromandal Coast infrastrugture

(D) Southern Coast (B) For holisjdc development of

heritage cities

8. Jaduguda is famous for what ? (C) To make lthe country clean
: | i
(4) Uranium _ (D} None of the above
(B) Coal
C) Mi !
| () Mica : 12. How many PT.ldyogik Kendra Vikas
| (D) Copper ore Nigam are there in Madhya, Pradesh ?
(A} S
9. Inwhich district of Madhya Pradesh .
“Jahaj Mahal” is located ? (B) 8
| (A) Dhar (©) 9
i (B) Jabalpur D) 7 !
(C) Hoshangabad i
(D) Gwalior N
13. Onthebasis pf the census 2011, the
, highest population density district
F 10. Hindustan Electrographite Plant in of the Madhya Pradesh is
,» Madhya Pradesh is located at !
“ (A) Banmore Industrial area (4) Bhopal i
(B) Malanpur Industrial area (B) Indore
' (C) Mandideep Industrial area (C) Jabalpur
(D) Pithampur Industrial area (D) Gwalior
| SF/M/1/2019/ I-A 5 [ P.T.O.
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14. TR U =1 | Feforfiaa o -

15.

16.

e gifaq i 8 ?

(A) ¥H

(B) =1 ITgRAft

(C) weih! (wlsts)

(D) WidsIie SUERAT Sl ITR

95918¢ Hindime.com # a4 ¥ SHA
FH-HR ?

(A) Hindi
(B) me
(C) Hindime

(D) .com

ey T fohehe STRTedl w9 s 2016
o Tt T g et e g foed et A
e ot s off ?

(A) =R
(B) TaTfer
(C) ¥R

(D) REgh

SF/M/1/2019/ I-A

18.

19,

0 sitee’ < TRaaT g ?
(A) TTHI-3HiHaET |
(B) 3mfET

(C)

(D) e

FAAH § 3T GUERR H & ST arelt A
R 8 ?

(A) 5@
(B) 10 =@
(C) 15<m@

(D) 25 @@

https://www.freshersnow.com/previous-year-question-papers/




i

14. Which of the following item is 17. Whois authci;r of the book
not included in non plan revenue “Unbreakablé : an autobiography”
expenditure ? from the follciwving authors ?
(A) Pension {A) M. S. Dhoni
(B} Interest payment (B) M. C. Ma|ry Kom
(C) Subsidy " (C) Vijendra Singh
(D) Loans to public enterpﬁses (D) Sunil GaJIaskar
15. Which is the top level domain in
; website Hindime.com ? 18. What is the,rNationaIity of ‘Usain
| (A) Hindi Bolt'?
[ (B) me (A) South African
) (C) Hindime _ (B) American
(D) .com (C) Jamaican
E - (D) Canadia.rJl

16. M. P. State Cricket Academy was
established in July 2016 by the |
department of Sports and Youth

) . 19. Whatis the present Prize Money for
Welfare of Madhya Pradesh in which '

Arjun Award| ?

city ? |
(A) Indore (A) 5 Lakh
'; (B) Gwalior (B) 10 Lakh
' (C) Sagar (C) 15 Lakh
(D) Shivpuri (D) 25 Lakh
SF/M/I1/2019/ I-A 7 [P.T.O.
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20. A A § IR foeg Freafafea s 28. zrl%commﬁ_mmm%am%,

¢ ge 1 @ Fefaied sR-aea T 8 ? @ HORSE = %3 ferar smam 7
(A) = WG (A) 84PLC
(B) F& | (B) F4PQ2
(C) <% () , (C) J4PU2
(D) wftn (D) G4PR5

21, ™G PQRS #H, T+ 9§ PQ & fergadl

X, Y, Z, T 3R uig =R 910 § fawfea _
24, I9 ARG A falm sgam AR i@ g
e mn 1 B9 A YZR it 3T PORS

¥ WWW[ &Il (AYZR) ]%

8F%d (A PQRS)

y P —> TTHM &3 3 e
A Qaﬁﬁ%ﬁ%mﬂ
( } 9 R -» @ Tt
— FOSTR
® Yo v
c 1
) é Iz Tt i T STEE 1.8 €@ &, 9 F
o) % ST YT < e 8 o fsf &
31 ¥ Frefea ?
22. 3T sec4a = cosec (o.— 20°), Kl 40 TH
<F B, T 0,5 R 3 (%) 15%3%
(a) 21° (B) 9%44%
(B) 22°
C) 199 %
(C) 20° © /9
(D) 18° (D) 2315%
SF/M/1/2019/ I-A 8
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20. Whichoneis not among the following

four New Sports that have been
introduced in the Tokyo Olympics ?
(A) Sports Climbing
(B) Karate
(C) Chess
(D) Surfing _ .
21. Inrectangle PQRS, itsside PQ divided
into five equal parts by points X, Y,
Z, T. The ratio of area of triangle
AYZR and area of rectangle. .
Area (AYZR) .
Area (Rectangle PQRS) 'S

PQRS[
A
® Yo
© Y
D) Y% .

22, If sec4o = cosec (0. — 20°), where

40, is anr acute angle, then value-of

ais equal to
a) 21°
(B) 20
(C) 20°
(D) 18° i !

1

1
f

SF/M/1/2019/ I-A
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23. If CORONA s

writtén ‘as A4P4LI,

then how will HORSE be written ?

(A) 84PLC !

. (B) F4PQ2

(C) J4PU2

(D) G4PR5

24. The variousisections are indicated

below in the'circle diagram.

P - Government sector employees
Q - Private sector employees

R — Self employed

S - Unemployed

T -» Others

If the total population of the city is
|

1.8 lakh, the percentage of the total
|

population that is employéd in both

the govemmént

|
(A} 15%%:'
g

(B) 9%0/; |

(C) 199 %

(D) 23%%:

and private sector is

* [ P.T.O.




s

25, SEIKE Sfigtd ‘Mger iR @y g9, Yrpeifen wae fing o wifte fomar v o 2

(A) &l e 1 (A) 1765
(B) fae % @®q® B) 1771
om,
(D) 1784 i
26. TARIKS NI A YRR o o st s s |
FAT G 7 30. ‘TERIEE’ TRH FH AGEH o1
(A) <4 (A) Y& i
(B) =pa (B) fermEew 1
© (C) s 4
(D) wEafmEt (D) s 4
27. ‘yifwen (nideulet 9F) weg wENam 31, Wi § 7 rRaw wrety davetl St wmae @ i
o e o 7 At fFa s 2 |
(a) e (A) wE" {
(B) 3t=d (B) Teswfer
©) =@ (C) werrft
(D) gFrE (D) wiuliwe
28. TS HiS e 931 =t 39 o1 7 32. viedl JeasiE T S FriwT o j
(A) IRER (A) 1955-56 — 1960-61
(B) T=d , (B) 1960-61 — 1965-66
©) TR (C) 1969 — 1974
(D) TR (D) 1974 1978 !
SF/M/1/2019/ I-A 10
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[

25.

26.

27.

28.

In tribal life ‘Gotul’ represents
(A} Regional deity

(B) Form of marriage

(C) Youth organization

(D) Traditional leader

Fluoride pollution affects which part

of the human body ?
(A) Teeth

(B) Liver

(C) Kidney

(D) Muscles

The word ‘ecosystem’ was first
used by

(A) Weaver
(B] Odum
(C} Tansley
(D) Sukachev

King Bhoj was the ruler of which
dynasty ?

(A) Pratihar

(B) Chandel

(C) Rashtrakuta

(D) Parmar

SF/M/1/2019/ I-A
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29.

30.

31.

32.

In which year was Regulating Act
passed ?

(A) 1765
B) 1771
(C) 1773 !
(D) 1784 ‘

|
The author of the play

‘Mudraraks};lasa’ was
(A) Shudrak;

(B) Vishakh(::lutt

(C) Kalidas
(D) Bhas

Who has the! right to establish
New All India Services in India ?

(A} Parliament

(B) Presidenlt

(C) Prime Minister

(D) Council (:)f Ministers

|
What was thF term of the fifth five

year plan ?

(A) 1955-56 - 1960-61
(B) 1960-61- 1965-66
(C) 1960 — 1974 °

(D) 1974 — 1078

[ P.T.O.
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33.

34.

35.

36‘

WY Fiar i wia-t g
TehTcHhdl ¥ Gt 8 ?

(A) Hhe JoTeh
(B) FoRaRI AT
(C) A waled =™
(D) afauH F vateadn

e e weTe forem wenua fohem 2
(A) SHarE

(B) I+ 3w

() forct

(D) Bt

eI | TANYH YERd TS el AT
e ?

(A) 1952

(B) 1953

(C) 1954

(D} 1955

uriferfaeht oo # 391 1 Hia 2
(A) sRehm 3=
(B) i St
(C) <harem 3=
(D) arE I=i

SF/M/1/2019/ I-A
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37.

38.

39.

40.

R STehege foRed T BT | 7
(A) TghaT demSi

(B) 9O ar=HE

(C) TSfetpar gaafar

(D) &qu gt

i
“Rreht aTraie FBhe AT @ TR g3 7 |
(A) Temmaer v | 4
(B) IwrES {
(C) =R i
(D) =mmeiE

St wifefaeh! o3 § sy =1 fqufie ‘
BT |

(A) e
(B) ST
(C) TEAHR ‘
(D) ST T 8 IS 78 1

LAY T TSAFE & |
(A) wgeT ~'
(B) =0T 1
(C) fw

(D) WFEH



33.

34.

35.

36.

Which one characteristics of
Indian Constitution is related
with Unitary ?

(A) Amendment method

(B) Single citizenship

(C) Independent Supreme Court
(D) Supremacy of Constitution

Who first established the district
administration ?

(A) Cornwalis

(B} Warren Hastings
(C) Wille

(D) Macaulay

When were the first Panchayat
Election held in Madhya Pradesh ?

(A) 1952
(B) 1953
(C) 1954
(D) 1955

The source of energy in an
ecosystem is

(A) Nuclear energy
(B) Sunlight energy
(C} Fossil energy
(D} Wind energy

SF/M/1/2019/ I-A
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37.

38.

39.

40.

https://www.freshersnow.com/previous-year-question-pap

Reserpine alkaloid is obtained
from |

(A) Atropa belladona
(B) Papaver somniferum
Q) Rauwolﬁ?a serpentina
(D) Datura a:lba

I

|
“Chipko movement” commenced
from which ?tate ?

(A) Himachal Pradesh
(B) Uttarakhiand
(C) Chhattis:garh
(D) Nagalanc‘i ‘

Pyramid of biomass in an aquatic
ecosystem is

(A) Upright
(B) Inverted
(C} Circular
(D} None of the above

The State trée of Madhya Pradesh is
{A) Mahua I

(B} Banyan
(C) Neem
(D) Teak

[ P.T.O.
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41.

142,

43.

44.

Teryey ¥ g Y@ § wdyem Frafas
T S ?

(A) STRTI

(B) ot

(C) Tarferr

(D) ¥

STTE e G SR o Tesem STeae]
FEY?

(A) . EIH
(B) To=aUd Hea
(C) . sgaskn
(D) Wt 3o

T 2011 i SHIVMT & STFER AL TR &
Frferfaa # & form fren w1 fermgura we
FHR?

(A) WX

B) fie

(€) Rragd

(D) @R

SHTUET 201 1 % SFFHR, TRA & Fer USR
T Y 1 AR R 7

(A) 54.6%
(B) 50.2%
(C) 62.3 %
(D) 60.7 %

SF/M/1/2019/ I-A

45.

46,

47.

48.

14

bt.w. A A forw T o olE we
(RURBAN) T it gt i ?
(A) T4

(B) 8 feeedt

(C) wfeg

(D) sfeamm

TevSieT wee 9.9, % fore wed wa §
Pma?

(a) i@
(B) =g,
(C) foge
(D) Regd

i Se Ty v o o STar | 7
(A) fommr
(B) s

(C) SR
(D) wr=

fiqre # sreifoa St aaie e i
T g 7

() =

(B) W

(C) =

D) =
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41. In which district of Madhya
Pradesh was the first Municipality

’ established ?
(A) Jabalpur
3 (D) Indore

42. Who was the first Chairman
of the Administrative Reforms

F (B) Bhopal
t (C) Gwalior
i
’ Commission ?
(A) K. Santhanam
(B) Balwant Roy Mehta
(C) K. Hanumanthaiyya

(D) Morarji Desai

43. As per census 2011, which of the
following district of Madhya Pradesh
has lowest sex ratio ?

(A) Chhattarpur
(B) Bhind

(C) Shivpuri
(D) Sagar

44, As per 2011 census, what is the
contribution of agriculture in total
employment of India ?

(A) 54.6%
(B) 50.2%
(C) 62.3%
(D) 60.7 %

T T T e TR T T T e e

SF/M/1/2019/ I-A
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45.

46.

47.

48.

National RURBAN Mission was
launched by P.M. Modi in which
State ? '

(A) Gujarat

(B) New Delhi
(C) Chhattisgarh
(D) Haryana‘

Hindola Palace is located in which
tourist placelof Madhya Pradesh ?

(A) Orchha
(B) Mandu
(C) Chitrakoot
(D) Shivpuri

The Bhagori}‘ra festival is celebrated
in the month of

(A} Decembe
(B} June
(C} October '
(D) March i

=

For how many days does the Lokrang
Samaroh at F’:hopal go on for ?

(A) Three l

(B} Five
(C) One
(D) Two

[ P.T.O.
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49. WRAM™ T FlG & fom aftaym # gf 52, Afwed™R St et i 9w @ gean & o

i & e wiid forar T o Swe O T T fopd v ,
TS5 S o 7 (A) S |
(A) Hidere Tes (B) sherR
IS ISEIRGIGERS () e .
D W' .‘
(C) AreTem et ® 1
(D) TR Ued
53. Frda fra guisrpl (Gefifmm) aireaw
FETT I AL ?
50. IHHT HEET Fa] fod § ? -
(A) =felt smfen 1. aa@ 1
(B) emEfern Sl 9 1 e IR G |
(C) wgF U= efEm (A) FEIAIEAE
(D) sifemn (B) wad [l ¥ 7
(C) B =T &
(D) dHiE g
51. 3-AQ S manu@snl.net.us MY |
TafE® 7 :
54. ISP I qaed 8 =
(A) R
(A) Sfen firem TieEre
(B) et _ 1
(B) $etie vidd Wams
(C) == . y
(C) SRS HoHshTSaR SIShiel
(D) R T SR (D) e d¥emee i
SF/M/1/2019/ I-A 16 1
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49, Who was the President of the

session of Indian National Congress
in which resolution of complete

independence was passed ?
(A) Motilal Nehru

(B) Jawaharlal Nehru

(C) Mohandas Gandhi

(D) Vallabh Bhai Patel

50. Where is Atakama desert situated ?
(A) South America

(B) Australia

(C) United States of America

(D) Mangolia

51. e-mail address manu@snl.net.usis

related to which country ?
(A) India

(B) Canada

(C) China

(D) United States of America

SF/M/1/2019/ I-A
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52..

53.

54,

Software th].at are installed onto

computer to protect computers from

virus i
(A) Backup i
(B) Keyloggcl:'
(C) Antivirus:

(D) Compiler

Which of the| following is known as

malicious software ?
i, worms

II. virus

Select the correct answer of the

above question.
(A) Only I isjtrue

{B) Only Il is true

{C) Both are|false
(D) Both are; true
|
ISP stands for
(A) India Sysl;tem Protocol
|

(B) Internet Service Provider

(&) Intemati‘onal Subscriber

Protocol

(D) Integrated Satellite Page

[ P.T.O.
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55. fadig - TRR Uy iz ? 58, @mmqammmm%
T SIGAT & | 9fE I8 o1 18 fiie I &,

(A) TIFR ATTRAIE
2 Y, o i1 g T g S ?

B) o () 25%R

(C) sa=rd (B) 7.52 ¥k

(D) ScTErst (C) 4.52 %l
(D) 5.72 6k

56. 3T MER I HH a9 Bkt AR & ?
59. x,y ¥ O T AE ¢ | fhas wlovm ¥ y, x

) s dEAY 7
(B) 7o F e (A) 88.88%
(C) @t T (B) 80.88%
(D) . T\ o (C) 116%
(D) 91%

57. ‘IHEH qu1 TR e B e 60. T AT HEMRAl a M b (a>b) ol AL

AEaa e ? - gHYEde 391 B, 99 3b — 2a TR gIU
A) e e & 7

A) 5
(B) <Rt )

(B) 7
(C) g

. ©) 13
(D) gsEar (D) 17
SF/M/1/2019/ I-A 18
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55.

56.

57.

Which of the following is not a

cybercrime ?

(A) Cyber terrorism

(B) Interpreter

(C) Data theft

(D) Forgery

Who was the first cricketer to get

Arjun Award ?
(A) Venkat Raghvan
(B) Nawab of Pataudi

(C) Salim Durani

(D) B.S, Bedi

The terms ‘Back Stroke’ and ‘Breast

Stroke’ are related to which sports ?
. . [(A) Cricket

(B) Swimming

(C) Golf

(D) Horse Riding

SF/M/1/2019/ I-A
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(A) 25Teet i

(D) 5.72 feet,

60. The LCM of

it increase

B) 7.52 feet

() 4.52 feet
|

~- 58, A Teak tree Iincreas‘es annually by
- _,_1 » v !
/6 of its hei

t. By how much will

'telr 2% years, if it_

) sftand"godayj!lS feet high ?

|
. | >
|

59, xis9 times greater than y. By what

percentage i:s y legs than x ?

(A) 88.88% |
(B) 80.88%
|

(C) 116%

|
D) 91% |

and b {a>b) i
divisible by !
@ s .
(B) 7
© 13

(D) 17

two prime numbers a

s 39 1, then 3b-2a is

4 LR [P.T.O.

prs/



iy

=

g (61-64): Fr=fafas Ty # et N i@
T % I AT

gat 4 @ @it w2, T @ g8 gu o,
et 310 qrioes dftera & Teu Ay 2 | 3
39 qme 4 off gaivey it St & e
aﬁ%lﬁﬁf-ﬁ%aﬁaﬁﬁw(maﬁw)ﬁﬁj
-t s, W e AT (FE) e,
TTe g AT (Tertet), T R Al (SERY) I
¥ | TEIRR o9 FE A TEE W SIH o 2, HH
R A gE-Sg 98 & 7 v | Susht Wi # +ft 7
THE IR AT ], g8 At 3K T W wEa g,
T Taudia vy < i s 9 didd " wl
Y ot 3 = 2d B T 38 gmsa  wwy W
2 | 7 a9 = st ; o <ien <t wiemn T
E B 3 AR T 1 &1 91T | 98 MY
2 SR 3GH TRy 8, W] S, 9o 3T e
TeeareRal % faeg PR R 1

61. & HaRm A
(A) arcitfrs
(B) Wk
(C) wifes
(D) srTHfih
62. dat ¥ e gyt §
(A) FHR
(B) @
(C) swepfr St
(D) EETHR
63. TH AW A ‘SHRA Weg HHEud 8
(A} sufra
(B) e ol
(C) wgTeHt
(D) T
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64.

65.

66.

67.

68.

zg T o froeh nfgm - waEn
TR ?

(A) 97

(B) zufeg

(C) TR

(D) <

FEIH % fre g B 8§ 7
a) 9=

(B) =R

(C) i

(D) =

femmatt & T few @@ f T F T
A G ?

(A) shfaaraes

(B} wrGdTE<h

(C) afaaaraes

(D) wigaTH

‘o8 HRR Ty i 9w R
(A) fersrem

(B) &

(C) we™

(D) WA ™

T & Y W R A 2N O SiA-d "y
T g ?

(A) =I=H |l

(B) X dfy

(C) formt af¥r

(D) I H 4§ (A) 3 (C)
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o T TR T TTRT TR R T e T T

&

69.

70.

71.

72.

73.

74.

BRER oE 6 = R
(A) T

(B) ama 3 fow

(C) fasaim #gy =t @R
(D) 3 Fwm A ma

T T 1 w=E R |
(A) TRrERRET-FeEem
(B} wiafen-gesiem
(C) THeiSsi—ice™
(D) SRR <4 afe-HemeE
Tef <t T B
(A) T IR
(B) Tga WETHAT,
(C) AWM ANaq,
(D) =Ry,
e s S wfig Ta @
() Ha Uag@
(B) wa fammsht
(C) wa fmrger
(D) Gq SRe™
“witrerer 1 ferammefl ]
(A) T fsnsh
(B) 2RI
(C) T=BIgER
(D) HATHA
EX-OFFICIA’ w0 &<t d Fai ar g
(A) R '
(B) wed
(C) e
(D) FAREE
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76.

77.

78.

79.

80. °

0 3 o WA R TR AR E 7
(A) 06 i

(B) 07

(C) 08 |
(D) 09 |
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81.

82.

83.

84.

English

Fill in the blank with a suitable
option :

He to play Cricket before
his marriage. -

{A) is used

(B) was used

(C) used

(D) should

Fill in the blank with a suitable
option : '

You take anything out of a
shop without paying for it.

(A)
(B)
(C)
(D)
Fill in the blank with the most

suitable word among the options
provided :

“He is the
(A) Hare
{(B) Hair
(C) Heir
(D) Here

need not
should not
must not
would not -

to the throne.”

Transform the following sentence
without using “too” but retaining
the same meaning.

“She was too late to attend the
class.”

(A) She could not attend the class
as she was late.

(B) She was so late that she could
not attend the class.

(C) To attend the class was so late
for her.

(D) The class was very late to

attend by her.

SF/M/1/2019/ I-A
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86.

87.
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How many different meanings does
the word bank’ have in the following
sentences ?

a)
b)

The river is eroding its bank
I opened an account with a
local bank

¢) 1 bank on your support
(A)
(B)
(C)

(D)

One meaning only
Two meanings
Three meanings

Four meanings

Fill in the blank with the suitable
article from among the options in
the given sentence :

“Thisis _____ one-man Committee.”
(A) An

(B) The

€ A

(D) No article

Fill in the blank with a suitable word
from among the options :

The person left behind
him a widow with three children.

(A) Decreased
(B) Diseased
(C) Deathly
(D) Deadly
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89.

920.

Which one of the following options
is the correct passive voice of the
sentence given below ?

“The news pleased him.”

(A) He is pleased by the news.
(B) He was pleased at the news.
(C) He was pleased by the news.

(D) He had been pleased with the
NEews.

Which among the following options
is the appropriate indirect narration
of the given sentence ?

The Policeman said to the man,

“Where are you going ?”

(A) The Policeman inquired of the
man where are you going ?

(B) The Policeman inquired of the
man where were you going ?

(C) The Policeman inquired of the
man where he was going.

(D) The Policeman enquired of the
man that where he was going.

Which option among the following
is the correct indirect narration of
the given sentence ?

“Has John spent all the money ?”

{A) He told John has spent all the
money.

(B) He enquired if John had spent
all the money.

(C) He wanted to know if John
spent all the money. '

(D) He told that John spent his
money.

SF/M/1/2019/ I-A
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91.

92.

93.

Choose the ‘correct option of the
transformation of the given sentence
into a complex sentence.

.“Spare the rod and spoil the
child.” I

(A) Don'’t spare the rod to spoil the
child. :

(B) Don't spdlre the rod and spoil
the child.:

(C) H you spare the rod, you spoil
the child

(D) The child{ will spoil the rod and
you will spare.

Which one of the following sets is
incorrect ?

(A) Wise - Wiser - Wisest

(B) Bad - Wo‘rse - Worst

(C) .Good - Better - Best

(D) Happy - II{appiness - Happiest

Find the corzi'ect match of words in
the given collumns :

Column A i Column B
a) Lad | i) Peahen
b) Fisherman ii) Mistress

c) -Peacock? i1i)) Fisherwoman
d) Master 1 iv) Lass
| .
a b c d

A) i i |iv i
B) iv i |ii i
€ #i iv |i i

(D) iv i i i
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94, Seclect the correct option which

means ‘Verbose’:

(A) The style which is too full of words
(B) A hater of knowledge

(C) An irrevocable decision

(D) The old man leaning on one arm

95. Which one of the following options

is the correct passive voice of the
sentence given below ?

“Ravi will teach the child.”
(A) The child will be teaching Ravi.

(B) The child will be taught by
Ravi.

(C) The child would be taught by
Ravi. '

(D) The child will teach Ravi.

Directions (96-100) : Read the following
passage carefully and answer the questions
given at the end :

Heart disease is the enemy number one of
the human body in our time. It accounts
for the largest number of deaths in all
affluent societies, outstripping cancer,
accidents and infections as causes of
death. In developing countries as well,
this trend is apparent, now that fewer
people die of infections, and more children
survive the diseases of childhood.

There are four important types of heart
disease. Firstly, congenital heart disease,
which is present at birth; an example

SF/M/1/2019/ I-A

of this is the so-called ‘blue baby’. It
accounts for 2 per cent of all heart

diseases. The second type, rheumatic,
is quite common in some developing
countries among the young people, and
accounts for some 30 to 40 per cent of all
heart cases. It is caused by an infection
of the throat which, if untreated, causes
damage to the heart. The symptoms are
a chronic sore throat, painful joints and
high fever. This disease is widespread in
many developing countries, due to poor

living conditions and overcrowding.

High blood pressure is also an important
cause of heart disease, of the third type,
hypertensive, and accounts for some
15 to 25 per cent of all heart cases. It is
believed that among other factors such as
stress and smoking, a higher salt intake

in the diet leads to blood pressure.

‘Degenerative heart disease, commonly
known as ischaemic heart disease, is the
cause of heart attacks, and is one of the
most inﬁportant health problems among
adults throughout the world. Ischaemic
heart disease is due to blocking of the
two blood vessels which supply blood to
the heart muscle. At birth they are wide
open, but in a diseased state one or more

of these vessels is completely blocked,.
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leading to defective blood supply to various
portions of the heart. This results in the
well known symptom of pain on emotional
or physical stress called angina. What
causes this is the laying down of a fatty
substance, called cholesterol, in the wall
of the artery, which gradually blocks the

vessel and may close it completely.

How does cholesterol get into the blood ?
It results partly from a diet rich in fats
of animal origin, such as butter, cream,
cheese, rich cuts of beef, ham and bacon,
egg yolk, and saturated cooking fats, such
as ghee.

96. What does the writer want to inform
mainly in the first paragraph of the
passage ?

(A) More children survive the
diseases of childhood than
ever before

(B) Heart disease is also quite
prevalent in developing
countries

(C) Heart disease is the world’s
major killer of our times

(D) It has overtaken cancer,
accidents and infections as
causes of death

97.

98.

99.

100.

Select the option which is a false
statement :

(A) A congenital heart disease is
something that a baby is born
with.

(B) An 1nfect10n of the throat
may cause a rheumatic heart
disease.

(C) Angina is a symptom of pain
on emotional or physical

stress. i

(D) Blue baby is an indicator of
high bloo'd pressure.

In what ty'pes of heart disease does
fatty diet play an important role ?
(A) Congemtaiil heart disease
(B) Rheumatic heart disease
(C) High blool‘d pressure
(D) Degenerative heart disease
What are the food habits that

contribute to heart disease in
general ? ‘

(A) Untreatecil infection of throat

(B) A higher :s.alt intake only

(C) Diet rich in fats of animal
origin !

(D) Both (B) and (C)

What causes a blockage of the

vessels ?

(A) Ischaemia

(B) Higher salt intake

(C) Fats of animal origin

(D) A fatty substance called
cholestegol
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